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</ wujwunwip hwjwnbp hwjnbp hwdwnnin Ghwnwannent
/hwdwwwwnwufuwubnt /shwdiwwwunwuluwubnt Yupwgpnyp
nbwpnud ugk “X”/ nGwpnu ugk| “X”/
] U/2 Uhtip X
Lwjpwwbiinjwu
Cunpjws
dwutiwlhg
Uwult:‘wll:hg:‘l;ph Uwutwlgh /punpywsd Uwutwlgh wnwowplyué ghu
qpmél é!l‘ wujuunwip dwutiwygh /wnwiug UKL, hwq. npud/
1o hwdwp ugb|
uxn/
1 W/ Uhbp <wjpwwbuywu X 22 000
Cunpqwsd Jwutuwlghtu npnobine hwdwp Yhpwndwd swihwuhs' pwdwpwp guwhwndwsd hwin b quwihtu wnwowpl:
Quithwpwdhu N 23:
Yudwu wnwplw & hwunhuwund' pwgndy:
Spwybtpph ywhwugubpht | <pwybtph wwhwugubphu
Uwutwlgh hwiwwywwnwufjuwunn shwdwywunwujuwunn Uthwidwwywinwufuwingewl
</< wujwunwdp hwjuinbp hwyunbp hwiwnnn & ety
/hwdwwwwnwufuwubnt /[shwdwwwunwufuwubint wdwnnin hwpwgpaypnt
nbwpnud ugki “X”/ nbwpnud uoki| “X”/
] Uu/a Uhtip <
Lwjpwuybiinjw
Cunpjws
dwutwlhg
U“‘“Z“‘E"gr;"h Uwutiwlgh /punpyws | Uwutiwlygh wnwewnlwé ght
qpml? 3[‘ wujuunwip dwutiwygh /wnwug UKL, hwq. npwd/
1o hwdwp ugk|
uxn/
1 W/ Uhbp <wjpwwbuywu X 22 000
Cunpywd Jwutwyght npnobint hwdwp Yphpwndwd swihwuhs' pwdwpwnp guwhwndwsd hwyn b quwiht wnweowny:
Quithwpwdhu N 24:
Yudwu wnwplw £ hwunhuwund® gnpbuwdwywn:
<pwybpph wwhwugubpphu | <pwybph wwhwugubphu
Uwutuwlgh hwiwwywwnwujuwunn shwiwwywwwufuwunn Utthwidwwywinwufuwiniewt
</< wujwunwdp hwjwnbp hwjwnbp hwiwnnin twpwgpnypEntl
/hwdwwwwnwufuwubnt /[shwdwwwunwufuwubint npugnnye
nbwpnud ugk) “X”/ nbwpnud uoki “X”/
] Uu/a Uhtip <
Lwjpwwbiinjwu
Lunpus
dwutwlyhg
Uwult:.wghgtl:ll;nh Uwutuwlgh /punpwé Uwutwlgh wnwowpyws ghu
qpml:l 3'1 wujwunwip dwutwygh /wnwug UKL, hwq. npud/
1sro hwdwn Uk
uxw/
1 /2 Uhbip <wjpwwbuywu X 14 440




Cunpqws Jwuuwlghu npnobine hwdwp Yhpwndwsd swihwuhs' pwdwpwp guwhwndwd hwin b quwihtu wnwowply:

Quithwpwdhu N 15:

Qudwu wnwpyw &

hwunpuwunud® nbnhu ninn:

<pwybph wwhwugubipp | <pwytph wwhwugubphu
Uwutwlgh huwdwywwnwujuwnn shwiwwywwmwufuwunn Uthwdwwywinwufuwinge)wl
</ wujwunwip hwjwnbp hwjnbp hwdwnnin Ghwnwannent
/hwdwwwwnwufuwubnt /shwdiwwwnwuluwubnt Yupwgpnyp
nbwpnud ugh “X”/ nGwpnu ugk| “X”/
] U/ Uhtip <
Lwjpwwbiinjwu
Cunpjws
dwutiwlhg
Uwult:lwll:hg:‘l;ph Uwutwlgh /punpywsd Uwutwlgh wnwowplyué ghu
qpm:il é][l wujwunwip dwutiwygh /wnwug UKL, hwq. npud/
nHro hwdwp Uk
“X"/
1 W/ Uhbp <wjpwwbuywu X 5250
Cunpqwsd Jwutuwlghtu npnobne hwdwp Yhpwndwd swihwuhs' pwdwpwp guwhwndwsd hwin W quwiht wnwowpl:
Quithwpwdhu N 27:
Yudwu wnwplyw & hwunhuwunud® wwupp |nnp:
Spwybtpph ywhwugubpht | <pwybtph wwhwugubphu
Uwutwlgh hwiwwywwnwufjuwunn shwdwwywunwujuwunn Uthwidwwywinwufuwingewl
</< wujwunwdp hwjuinbp hwyunbp hwiwnnn & ety
/hwdwwwwnwufuwubnt /[shwdwwwwnwufuwubint wdwnnin hwpwgpaypnt
nbwpnud ugki “X”/ nbwpnud uoki| “X”/
1 «q—ﬂ I'—‘bup ¢wma‘ubn» X
une
U/2 Uhtip
2 Lwjpwwbinjwu X
Lunpus
dwutwlhg
Umul'(:lwll:hg:‘l;ph Uwutuwlgh /punpqwsd Uwutwlgh wnwowplyuwé ghu
qpmél Ep wujuunwip dwutwygh /wnwug UKL, hwq. npud/
nHro hwdwp Uk
uxn/
«r]'n ﬂbura ¢'u1nra‘uhp»
1 Ump X 42 000
2 /2 Uhbp <wjpwwbujwu 52 500

Cunpywd Jwutwyght npnatint hwdwp Yphpwndwd swihwuhs' pwdwpwp guwhwnydwsd hwyn b quwiht wnweowny:

Quithwpwdhu N 28:

Qudwl wnwplw b hwunhuwun' futénp:

Cpwybtiph ywhwugubipht | <pwybph wwhwugubphu
Uwutuwlgh hwiwwywwwujuwunn shwiwwywwwufuwunn Utthwidwwywinwufuwiniewt
</< wujwunwdp hwjwnbp hwjwnbp hwdwnnin bl et
/hwdwwwwnwufuwubnt /[shwdwwwunwufuwubint waw wpwugnnyp
nbwpnud ugk) “X”/ nbwpnud uoki| “X”/
] Uu/2 Uhtip <
Lwjpwwbiinjwu
Uwutuwlhgubtph Uwutuwlgh Cunpjws Uwutwlgh wnwowplyuwé ghu
qpwnbgpwé wujwunwdip dwutwlyhg /wnwug UKL, hwuq. npud/
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wnbntpp

/punpqud

dwutiwygh

hwdwp ugb|
“X’/

1

U/@ Uhtp <wjpwwbunjwu

X

33 000

Cunpywd Jwutwyght npngbnt hwdwp Yphpwndwd swihwuhy' pwdwpwp guwhwndwsd hwyn b quwiht wnwowny:

Quithwpwdhu N 29:

Qudwu wnwplw b hwunhuwunw' hwéwph dwlwp:

<pwybph wwhwugubipp | <pwytph wwhwugubphu
Uwutwlgh huwdwywwnwujuwnn shwiwwywwmwufuwunn Uthwdwywinwufuwiniewl
</< wujwunuip hwjuinbip hwyunbp hwdwnnm & ety
/hwdwwwwnwufuwubnt /shwdiwwwnwuluwubnt wdwnnn thwpwgpnyp
nbwpnid uoky “X”/ nbwpntd ugk “X”/
] U/a Uhbip <
Lwjpwwbiinjwu
Lunpus
dwutwlhg
Umul'(:lmll:hg:‘l;ph Uwutwlgh /punpqwsd Uwutwlgh wnwowplyuwé ghu
qpml? Sp wujuunwip dwutiwygh /wnwug UKL, hwq. npud/
e huwidwn ugky
“X"/
1 U/ Uhbp <wjpwwybiunywt X 13 500
Cunpywd Jwutwlyght npngbint hwdwp Yphpwndwd swihwuhy' pwdwpwp guwhwndwsd hwyn b quwiht wnwowny:
Quithwpwdhu N 30:
Qudwu wnwplw b hwunhuwunt' 9bd:
<pwybpph wwhwugubpphu | <pwybph wwhwugubphu
Uwutwlgh hwiwwywwnwufjuwunn shwdwywunwujuwunn Uthwiwwywinwufuwingeuwl
</ wujwunwdip hwjwnbp hwjwnbp huwd u u
/hwdwwwwnwufuwubnt /shwdwwwunwufuwubint wdwnnun uljwpwgpnypnt
nbwpnud bk “X”/ nbwpnud uoki| “X”/
] U/2 Uhtip <
Lwjpwubiinjw
Cunpjws
dwutwlhg
U“‘“E“‘Ehgi?h Uwutwlgh /punpwd | Uwutwlgh wnwewplws ght
qpmél 3[‘ wujuunwip dwutiwygh /wnwug UKL, hwq. npwd/
e hwiwip by
Hx"/
1 /2 Uhbp <wjpwwbujwu X 54 000
Cunpqwsd Jwuuwlyghtu npnobne hwdwp Yhpwndwd swihwuhs' pwdwpwp guwhwndwd hwin b quwihtu wnwowpl:
Quithwpwdhu N 31:
Yudwu wnwplw & hwunhuwund' pwuw:
<pwybph wwhwugubipht | <pwytiph wwhwugubphu
Uwutuwlgh hwiwwywwwujuwunn shwiwwywwwufuwunn Utthwidwwywinwufuwiniewt
</< wujwunwdp hwjwnbp hwjwnbp hwdwnnin bl et
/hwdwwwwnwufuwubnt /shwdwwwunwufuwubint waw wpwugnnyp
nbwpnud ugk) “X”/ nbwpnud uoki| “X”/
] U/3 Uhbip .
Lwjpwybitnjw
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wbintipp

Uwutwlhgubph
qpwnbtignué

Uwutwlgh
wujuunwip

Cunpjws
dwutwlhg
/punpqwd
dwutwygh
hwdwp ugb|
“X”/

Uwutwlygh wnwowpyws ghu
/wnwug UKL, hwq. npud/

1

U/2 Uhtip <wjpwwbunjwu

X

74100

Cunpywd Jwutwyght npngbnt hwdwp Yphpwndwd swihwuhy' pwdwpwp guwhwndwsd hwyn b quwiht wnwowny:

Quithwpwdhu N 32:

Qudwu wnwplw b hwunhuwunwd' fuwnp Ywuwsh:

<pwybph wwhwugubipp | <pwytph wwhwugubphu
Uwutwlygh hwiwwywwwujuwunn shwiwwywwmwufuwunn Utthwiwuwnwufuwtingewl
</ wujwunwip hwjwnbp hwjnbp hud u u
/hwdwwwwnwufuwubnt /shwdwwwunwufuwubint wdwnnun ujwpwgpnypnt
nbwpnud ugh “X”/ nGwpnu ugk| “X”/
] U/2 Uhtip <
Lwjpwuybiinjw
Cunpqws
dwutwlyhg
U“‘“E“‘L"‘g:;"h Uwutwlgh /punpwd | Uwutwlgh wnwewnlws ght
Clpmél 3[‘ wujwunwip dwutiwygh /wnwug UKL, hwq. npud/
e hwiwip b
(&X"/
1 W/ Uhbp <wjpwwbuywu X 27 000
Cunpqwsd Jwutuwlghtu npnobne hwdwp Yhpwndwsd swihwuhs' pwdwpwp guwhwndwsd hwin b quwihtu wnwowpl:
Quithwpwdhu N 33:
Yudwu wnwplw b hwunhuwunu' ywhwdnjugyws ninn:
Spwybtpph ywhwugubpht | <pwybph wwhwugubphu
Uwutwlgh hudwywwnwufuwunn shwiwwywwmwufuwunn Uthwdwwywinwufuwiniew
</< wujwunwip hwjuinbp hwynbp hwiwnnn & Nty
/hwdwwwwnwufuwubnt /shwdwwwunwufuwubint wdwnnin hwpwgpaypnt
nbwpnud ugk) “X”/ nbwpnud uok “X”/
; U/a Uhtip <
Lwjpwwbiinjw
Lunpus
dwutwlhg
Uwu:lwll:hgzl;nh Uwutiwlgh /punpyws | Uwutiwlgh wnwewnlwé ght
qpml:l 3'1 wujwunwip dwutwygh /wnwug UKL, hwq. npud/
o hwdwp ugb|
‘LX"/
1 W/ Uhbp <wjpwuybiunywt X 29 000
Cunpywd Jwutwyght npnatint hwdwp Yphpwndwd swihwuhs' pwdwpwp guwhwnydwsd hwyn b quwiht wnweowny:
Quithwpwdhu N 34:
Yudwu wnwplw b hwunhuwunw' hwiyw:
Cpwybtph ywhwugubipht | <pwybph wwhwugubphu
Uwutuwlgh hwiwwywwwujuwunn shwiwwywwwufuwunn Utthwidwwywinwufuwiniewt
</< wujwunwdip hwjunbp hwynbp hwdwnnu & N
/hwdwwwwnwufuwubnt /[shwdwwwunwufuwubint wdwnnin bhwpwgpnyp
nbiwpnud Uk “X”/ nGwpnu ugk| “X”/
1 «'T]hpwdhr}w L*II.“‘IUU]» X
une
5 /2 Uhtip <
Lwjpwubitnjwu
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Cunpjws
dwutw
Uwutiwlhgubiph Uwutuwlgh /nhmnl{lﬂ‘g Uwutwlgh wnwowplyué ghu
qpwnbignué wujwunwip dwutiwygh /wnwiug UKL, hwq. npud/
wnknkpp hwdwp ugk|
“X”/
1 «Mhpwdhnw Yyhuwns UNE X 32625
2 /2 Uhbip <wjpwwbiiywt 40 600

Cunpqwsd Jwutuwlghu npnobine hwdwp Yhpwndwd swihwuhs' pwdwpwp guwhwndwsd hwin b quwiht wnwowpl:

Qwihwpwdhu N 35:

Yudwu wnwplw & hwunhuwunut® swdhs:

Spwybtph ywhwugubpht | <pwybph wwhwugubphu
Uwutwlgh hwiwwywwnwufjuwunn shwdwwywunwujuwunn Uthwiwywinwuiwbngut
</< wujwunwdp hwjuinbp hwyunbp hwdwnnn & Nty
/hwdwwwwnwufuwubnt /shwdwwwunwufuwubnt wdwnnin hwpwgpaypnt
nbwpnud ugk) “X”/ nbwpnud ugki “X”/
] U/a Uhbip <
Lwjpwwbiinjw
Cunpqws
dwutwlhg
U“’“““’Ehgt";"h Uwutiwlgh /punpyws | Uwutiwlygh wnwewnlwé ght
qpul:lél 3[“" wujuunwip dwutwygh /wnwug UKL, hwq. npud/
o hwdwp ugb|
(&X"/
1 U/a Uhbip <wjpwwbuywu X 8100
Cunpywd Jwutwyght npnobint hwdwp Yphpwndwd swihwuhs' pwdwpwn guwhwndwsd hwyn b quwiht wnweowny:
Quithwpwdhu N 36:
Qudwu wnwpyw b hwunhuwunud® wynip:
<pwybpph wwhwugubpphu | <pwybph wwhwugubphu
Uwutwlgh hudwywwnwufuwunn shwiwwywwnwufuwunn Uthwdwwywinwufuwiniew
</ wujwunwdip hwjwnbp hwjwnbp hwdwnnn Ghwnuannuent
/hwdwwwwnwufuwubnt /shwdwwwunwufuwubint Yupwgpnyp
nbwpnud ugh) “X”/ nbwpnud uok “X”/
] U/2 Uhtip <
Lwjpwwbinjwu
Lunpws
dwutwlyhg
Uwult:.wghgflul;nh Uwutuwlgh /punpwd Uwutwlgh wnwowpyws ghu
qpmél EP wujwunwip dwutwygh /wnwug UKL, hwq. npud/
nsro hwdwp Uk
uxw/
1 W/a Uhbp <wjpwwbiuywt X 22 400
Cunpqwsd Jwuuwlyghtu npnobne hwdwp Yhpwndwd swihwuhs' pwdwpwp guwhwndwd hwin b quwihtu wnwowpl:
Quithwpwdhu N 37:
Yudwu wnwplyw § hwunhuwund' hwyh Ypdpwdpu:
<pwybph wwhwugubpht | <pwybtph wwhwugubphu
Uwutwlgh huwdw
wwwnwufuwunn shwiwwywwmwufuwunn Uuhwdwwywwnwufuwunipyut
</< wujwunwdp
hwjwnbp hwjwnbp hwdwnnwn uuwpwgpnypniu
/hwdwwwwnwujuwubnt /shwdwuwwnwuluwubint
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nbwpnud ugki “X”/

ntwpnud ugki “X”/

«fnhpwdhr}w LJIL”‘I‘UU’]»

une X
U/a Uhbip
2 Lwjpwwbitnjwu X
Cunpjws
dwutwlyhg
Uwutwlhgubph Uwutuwlgh /punpywd Uwutwlgh wnwowplyué ghu
qpwnbtignué
nbnb wujuunwip dwutwygh /wnwug UKL, hwq. npud/
et hwdwp ugk|
(AXH/
1 «Mhpwdhnw Yhtns UMD X 169 150
2 W/a Uhbp <wjpwwybiinjwt 209100

Cunpywd Jwutwyght npngbint hwdwp Yphpwndwd swihwuhy' pwdwpwp guwhwndwsd hwyn b quwiht wnweowny:

Quithwpwdhu N 38:

Qudwu wnwplw b hwunhuwund' Shpwuh shp:

<pwybpph wwhwugubppu | <pwybph wwhwugubphu
Uwutwlgh hwiwwywwnwufjuwunn shwdwwywunwujuwunn Uthwidwwywinwufuwingewl
</ wujwunwip hwjwnbp hwjwnbp hud u u
/hwdwwwwnwufuwubnt /[shwdwwwunwufuwubint wdwnnun uljupwgpnypnt
nbwpnud ugki “X”/ nbwpnud ugki| “X”/
] U/2 Uhtip <
Lwjpwuybiinjw
Cunpjws
dwutwlhg
U“‘“E“‘Ehgi?h Uwutwlgh /punpwd | Uwutwlgh wnwewplws ght
qpmél 3[‘ wujuunwip dwutiwygh /wnwug UKL, hwq. npwd/
nHro hwdwp Uk
uxn/
1 U/ Uhbp <wjpwuybuinjwu X 49 500
Cunpqwsd Jwuuwlghtu npnobine hwdwp Yhpwndwd swihwuhs' pwdwpwp guwhwndwsd hwin W quwihtu wnwowpl:
Qwthwpwdhu N 39:
Yudwu wnwplw & hwunhuwunud' ulwn:
Spwybtpph ywhwugubpht | <pwybph wwhwugubphu
Uwutwlgh hudwywwnwufuwunn shwiwwywwmwufuwunn Utthwidwwywinwufuwiniewt
</< wujwunwdp hwjwnbp hwjwnbp hwdwnnin bl et
/hwdwwwwnwufuwubnt /shwdwwwunwufuwubint waw wpwugnnyp
nbwpnud ugk) “X”/ nbwpnud uoki| “X”/
] U/3 Uhbip .
Lwjpwybiinjwu
Lunpws
dwutwlyhg
U‘““:I‘"L"‘QE';"" Uwutiwlgh /punpywd | Uwutiwlgh wnwewnlwé ght
qpml:l 3'1 wujwunwip dwutwygh /wnwug UKL, hwq. npud/
1sro hwdwp ugb|
“X”/
1 /2 Uhbip <wjpwwbuywu X 8 000

Cunpqwsd Jwuuwlghtu npnobne hwdwp Yhpwndwd swihwuhs' pwdwpwp guwhwndwd hwin W quwihtu wnwowpl:
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Quwithwpwdhu N 40:

Quiwu wnwplw b hwunhuwun' ubpylhg:

Spwybtph ywhwugubpht | <pwybph wwhwugubphu
Uwutwlygh hwiwwywwwujuwunn shwiwwywwmwufuwunn Uthwdwywinwufuwiniewl
</< wujwunuip hwjuinbip hwyunbp hwdwnnm & ety
/hwdwwwwnwufuwubnt /shwdwwwunwufuwubint wdwnnn thwpwgpnyp
nbwpnid uoky “X”/ nbwpnd uok “X”/
] U/a Uhbip <
Lwjpwwbitnjwu
Cunpjws
dwutwlyhg
Uwu:luwghgtlulznh Uwutuwlgh /punpywd Uwutwlgh wnwowplyué ghu
qpml:l 3[‘ wujuunwip dwutwygh /wnwug UKL, hwq. npud/
e hwdwp ugb|
(&X"/
1 U/a Uhbip <wjpwwbuywu X 15000
Cunpywd Jwutwyght npngbint hwdwp Yphpwndwd swihwuhy' pwdwpwn guwhwndwsd hwyn b quwiht wnwowny:
Quithwpwdhu N 41:
Qudwu wnwplw b hwunhuwunud® uyhnwwswywn:
<pwybpph wwhwugubppu | <pwybph wwhwugubphu
Uwutwlgh huwdwwywwnwufuwunn shwiwwywwmwufuwunn Utthwdwywinwufuwiniewl
</ wujwunwip hwjwnbp hwjwnbp hwdwnnin Ghwnuannuent
/hwdwwwwnwufuwubnt /shwdwwwunwufuwubint Yupwgpnyp
nbwpnud ugh) “X”/ nbwpnud uok “X”/
; U/2 Uhtip <
Lwjpwwbiinjwu
Lunpus
dwutwlhg
Umul'(:lwll:hg:‘l;ph Uwutuwlgh /punpqwsd Uwutwlgh wnwowplyuwé ghu
qpmél Ep wujuunwip dwutwygh /wnwug UKL, hwq. npud/
nHro hwdwp Uk
uxn/
1 U/a Uhbip <wjpwwbuywu X 6 000
Cunpqwsd Jwutuwlghtu npnobine hwdwp Yhpwndwd swihwuhs' pwdwpwp guwhwndwsd hwin b quwihtu wnwowpl:
Quithwpwdhu N 42:
Yudwu wnwplyw § hwunhuwund' nuw:
<pwybph wwhwugubipht | <pwytiph wwhwugubphu
Uwutwlgh hwiwwywwnwufjuwunn shwdwywwnwujuwunn Uthwidwwywinwufuwinigeuwl
</< wujwunwdip hwjunbp hwynbp hwiwnnn Nty
/hwdwwwwnwufuwubnt /shwdwwwunwufuwubint waw wpwugnnyp
nbwpnu ugk “X”/ nbwpnud uok “X”/
1 «fﬂhpwdhr}w LJIL”‘I‘UU’]» X
une
U/3 Uhbip
2 Lwjpwwbiinjwu X
Lunpws
Uwutiwlhgubiph Uwutwlygh duutiwlhg Uwutwlgh wnwowpyws ghu
qpuintgnws whywinuip /nunnduwd /wnwig USZ, hwq. npud/
wbnbkpp dwutiwlgh ’
hwdwnp ugk|
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uxw/

1

«“]hnwdhmu L‘Il{h‘[.lln» umnp

34 583,33

2

U/ Uhtip <wjpwwbunjwu

42500

Cunpqwsd dwutuwlghtu npnobne hwdwp Yhpwndwd swihwuhs' pwdwpwp guwhwndwsd hwin b quwihtu wnwowply:

Qwihwpwdhu N 43:

Yudwu wnwplyw § hwunhuwunud' nuidubnbple:

Spwybtph ywhwugubpht | <pwybph wwhwugubphu
Uwutwlygh hwiwwywwwujuwunn shwiwwywwmwufuwunn Utthwiwuwnwufuwtingewl
</< wujwunuip hwjuinbip hwyunbp hwiwnnn & ety
/hwdwwwwnwufuwubnt /shwdwwwunwufuwubint wdwnnn thwpwgpnyp
nbwpnud ugk “X”/ nGwpnu ugk| “X”/
] U/a Uhbip <
Lwjpwwbitnjwu
Cunpqws
dwutwlhg
U'““““‘Ehgt";"h Uwutiwlgh /punpyws | Uwutiwlgh wnwewnlwé ght
qpul:lél 3[“" wujuunwip dwutwygh /wnwug UKL, hwq. npud/
o hwdwp ugb|
(&X"/
1 W/ Uhbp <wjpwwbuywu X 1600
Cunpywd Jwutwyght npngbint hwdwp Yphpwndwd swihwuhy' pwdwpwp guwhwndwsd hwyn b quwiht wnwowny:
Quithwpwdhu N 44:
Qudwu wnwplw b hwunhuwun' onynjwnuwwn Ynupbin:
<pwybpph wwhwugubpphu | <pwybph wwhwugubphu
Uwutwlgh hudwywwnwufuwunn shwiwwywwmwufuwunn Uthwdwwywinwufuwiniew
</< wujwundp hwjunbp hwjwnbp hwdwnnn Ghwnuannuent
/hwdwwwwnwufuwubnt /shwdwwwunwufuwubint Yupwgpnyp
nbwpnud ugh) “X”/ nbwpnud uok “X”/
1 «Mhpwdhnw Yyhuwmn» M
ynpe
U/2 Uhtip
2 Lwjpwubiinjw X
Cunpjws
dwutwlhg
U“‘“:j“‘g"gr;"h Uwutiwlgh /punpyws | Uwutiwlgh wnwewnlwé ght
‘“’mél é’" whwunuip dwutwlgh /wnwig U<Z, hwq. npuid/
1hrn hwdwp ugb|
uxn/
1 «Mhpwdhnw Yyhuwn» UME X 40150
2 U/Q Uhbip <wjpuiwbingwu 49 500
Cunpqwsd Jwuuwlyghtu npnobne hwdwp Yhpwndwd swihwuhs' pwdwpwp guwhwndwd hwin b quwihtu wnwowpl:
Quithwpwdhu N 45:
Yudwu wnwplyw § hwunhuwund' Yhupnu:
<pwytph wwhwugubipht | <pwytiph wwhwugubphu
Uwutwlgh hwiwwywwnwufjuwunn shwdwwywunwujuwunn Uthwiwywinwufiwingeut
</< wujwunwdp hwjwnbp hwjwnbp hwdwnnin twpwgpnypEntl
/hwdwwwwnwufuwubnt /shwdiwwwnwuluwubnt nuannye
nbwpnud ughy “X”/ nGwpnu ugk| “X”/
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